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QUESTION 1

You have just added a new DS4246 shelf with 24 x 10 TB SATA HDDs to a single FAS2650 node as the
first SATA shelf. You must keep two SATA spare disks on the shelf.

What is the maximum number of SATA data disks available in this scenario?

A. 19

B. 16

C.22

D. 20

Correct Answer: D

QUESTION 2

After you deploy a 4-node AFF A220, you want to upgrade the ONTAP version of the cluster.
In this scenario, before the upgrade, which advanced CLI command is used to locate epsilon?
A. cluster ha show

B. clustering ring show

C. cluster image show

D. cluster show

Correct Answer: C

QUESTION 3

You have created an aggregate with one RAID group on your ONTAP 9 cluster. Two disks have already failed and have
not finished reconstructing.

What would protect you from a third disk failure while you are still reconstructing the two failed disks?
A. RAID-0

B. RAID-4

C. RAID-TEC

D. RAID-DP

Correct Answer: C
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QUESTION 4

You are using a NetApp CN1610 cluster-interconnect switch and need to connect a new AFF A800A node to the
switch.

In this scenario, how many Ethernet ports per node are required on each switch?
A2
B. 4
C.6
D.1

Correct Answer: B

QUESTION 5

During handover, a customer asks you how to obtain support from NetApp after installation.
What are two responses in this scenario? (Choose two.)

A. Visit.

B. Visit mysupport.netapp.com

C. Send an AutoSupport message from the system.

D. Contact Global Support by telephone.

Correct Answer: BC
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